
Revisions and Errata List  
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September 15, 2014 
 
 
The following list represents corrections to the first printing (dated April 2004) of the second edition of AISC 
Design Guide 4, 
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33 In the left column, under the heading “13. Design Welds”, item ii), the words “bending stress in 
the beam web” should be replaced with “yield stress of the beam web”. 

 

34 In the left column, under the heading “16. Calculate Local Web Yielding Strength”, the equation 
for N should read: 
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34 In the left column, under the heading “16. Calculate Local Web Yielding Strength”, the equation 
for nR  should read: 
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34 In the right column, under the heading “18. Calculate Web Crippling Strength”, the equation for 

nR should read: 
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44 In the right column, under the heading “12. Check Compression Bolts Bearing/Tearout”, the 
value of ni should be changed to 4 and the value of no should be changed to 4. 

 

46 In the left column, under the heading “16. Calculate Local Web Yielding Strength”, the 
Equation for N should read: 
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46 In the left column, under the heading “16. Calculate Local Web Yielding Strength”, the equation 

for nR  should read:  
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